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function	stringCalc(str)	{
		var	parts	=	str.split(',');
		return	parts;
}

stringCalc("1,1000,2");



function	stringCalc(str)	{
		var	parts,	numbers;

		parts	=	str.split(',');

		for	(i	=	0;	i	<	parts.length;	++i)	{
				d(parts[i]);
		}

		return	parts;
}

stringCalc("1,1000,2");



function	stringCalc(str)	{
		var	parts,	number,	i;

		parts	=	str.split(',');

		for	(i	=	0;	i	<	parts.length;	++i)	{
				number	=	Number(parts[i]);
				d(number);
		}

		return	parts;
}

stringCalc("1,1000,2");



function	stringCalc(str)	{
		var	parts,	number,	result,	i;

		parts	=	str.split(',');
		result	=	0;
		for	(i	=	0;	i	<	parts.length;	++i)	{
				number	=	Number(parts[i]);
				result	+=	number;
		}

		return	result;
}

stringCalc("1,1000,2");





function	stringCalc(str)	{
		var	parts,	number,	result,	i;

		parts	=	str.split(',');
		result	=	0;
		for	(i	=	0;	i	<	parts.length;	++i)	{
				number	=	Number(parts[i]);
				if	(number	<	1000)	{
						result	+=	number;
				}
		}

		return	result;
}

stringCalc("1,1000,2");
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function	stringCalc(str)	{
		var	parts	=	R.split(',',	str);

		return	parts;
}

stringCalc("1,1000,2");





R.map(n	=>	2	*	n,	[1,	2,	3])



function	stringCalc(str)	{
		var	parts,	numbers;

		parts	=	R.split(',',	str);
		numbers	=	R.map(Number,	parts);
		return	numbers;
}

stringCalc("1,1000,2");



R.sum(	[1,	2,	3]	)



function	stringCalc(str)	{
		var	parts,	numbers;

		parts	=	R.split(',',	str);
		numbers	=	R.map(Number,	parts);
		return	R.sum(numbers);
}

stringCalc("1,1000,2");





R.filter(n	=>	n	<	1000,	[1,	2,	3,	500,	1000,	1001,	2000])



function	stringCalc(str)	{
		var	parts,	numbers,	under1000s;

		parts	=	R.split(',',	str);
		numbers	=	R.map(Number,	parts);
		under1000s	=	R.filter(n	=>	n	<	1000,	numbers);
		return	R.sum(under1000s);
}

stringCalc("1,1000,2");

















R.add(3,	4)



const	add3	=	R.add(3);

//d(typeof(add3));

add3(4)



const	splitByComma	=	R.split(',');
splitByComma("1,2,3,4,5");



const	splitByComma	=	R.split(',');

function	stringCalc(str)	{
		var	numbers,	under1000s,	parts;

		parts	=	splitByComma(str);
		numbers	=	R.map(Number,	parts);
		under1000s	=	R.filter(n	=>	n	<	1000,	numbers);
		return	R.sum(under1000s);
}

stringCalc("1,1000,2");



const	splitByComma	=	R.split(',');
const	mapToNumber	=	R.map(Number);
const	filterUnder1000	=	R.filter(n	=>	n	<	1000);

function	stringCalc(str)	{
		var	numbers,	under1000s,	parts;

		parts	=	splitByComma(str);
		numbers	=	mapToNumber(parts);
		under1000s	=	filterUnder1000(numbers);
		return	R.sum(under1000s);
}

stringCalc("1,1000,2");



const	splitByComma	=	R.split(',');
const	mapToNumber	=	R.map(Number);
const	filterUnder1000	=	R.filter(n	=>	n	<	1000);

function	stringCalc(str)	{
		return	R.sum(filterUnder1000(mapToNumber(splitByComma(str))));
}

stringCalc("1,1000,2");







const	splitByComma	=	R.split(',');
const	mapToNumber	=	R.map(Number);
const	filterUnder1000	=	R.filter(n	=>	n	<	1000);

function	stringCalc(str)	{
		return	R.pipe(splitByComma,	mapToNumber,	filterUnder1000,	R.sum)(str);
}

stringCalc("1,1000,2");



const	splitByComma	=	R.split(',');
const	mapToNumber	=	R.map(Number);
const	filterUnder1000	=	R.filter(n	=>	n	<	1000);

const	stringCalc	=	R.pipe(
	 splitByComma,
	 mapToNumber,
	 filterUnder1000,
	 R.sum);

stringCalc("1,1000,2");



const	stringCalc	=	R.pipe(
		R.split(','),
		R.map(Number),
		R.filter(n	=>	n	<	1000),
		R.sum);

stringCalc("1,1000,2");



//import	{	pipe,	split,	map,	filter,	sum	}	from	'ramda'

const	stringCalc	=	pipe(
		split(','),
		map(Number),
		filter(n	=>	n	<	1000),
		sum);

stringCalc("1,1000,2");



const	stringCalc	=	pipe(
		split(','),
		map(Number),
		filter(n	=>	n	<	1000),
		sum);

	 	 	 	
function	stringCalc(str)	{
		var	parts,	number,	result,	i;

		parts	=	str.split(',');
		result	=	0;
		for	(i	=	0;	i	<	parts.length;	++i)	{
				number	=	Number(parts[i]);
				result	+=	number;
		}

		return	result;
}









const	stringCalc	=	str	=>	str
		.split(',')
		.map(Number)
		.filter(n	=>	n	<	1000)
		.reduce((a,	b)	=>	a	+	b);

stringCalc("1,1000,2");





map({int	x	=>	x*2},	asList(3,4,5,6,7));



public	static	final	{int	=>	{int	=>	int}}
		plus={int	x	=>	{int	y	=>	x+y}};

public	static	final	{int	=>	{int	=>	int}}
		multiplyBy={int	x	=>	{int	y	=>	x*y}};

map(compose(plus.invoke(10),multiplyBy.invoke(2)),asList(3,4,5,6));



List<Student>	students	=	persons.stream()
								.filter(p	->	p.getAge()	>	18)
								.map(Student::new)
								.collect(Collectors.toCollection(ArrayList::new));



static	readonly	Func<string,	IEnumerable<string>>	Words	=
				s	=>	s.Split(new[]	{	'	'	},	StringSplitOptions.RemoveEmptyEntries);

static	readonly	Func<Func<string,	string>,	IEnumerable<string>,
																IEnumerable<string>>	Map	=
				(f,	list)	=>	list.Select(f);

static	readonly	Func<string,	string>	Reverse	=
				s	=>	new	String(s.Reverse().ToArray());

static	readonly	Func<IEnumerable<string>,	string>	Unwords	=
				list	=>	String.Join("	",	list);

ar	reverseWords	=	Unwords
				.Compose(Map.Curry()(Reverse))
				.Compose(Words);

Assert.That(reverseWords("Foo	bar"),	Is.EqualTo("ooF	rab"));
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